UGC NET 2022 ARCHAEOLOGY

Topic:- 067_PARTA_S2
D Which of the following archaeological thearies explain cultural innovation and change as a result of

stimulus or influence from a point of origin?

1. Diffusion

2. Cagnitive

3. Functionalism
4. Contextual
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[Question ID = 3354][Question Description = 101_10_ARC_SEP22_S2_QO01]
1. 1 [Option ID = 13413]
2. 2 [Option ID = 13414]
3. 3 [Option ID = 13415]
4. 4 [Option ID = 13416]

2) Who divided the history of Indian Archaeology in three perieds as Period - | (1861-1902), Period - |I
(1902-1944) and Period- 111 (1944-1960)7

1. E C. Bayley

2. Walter Eliott

3. H. D. Sankalia

4. Meadows Taylor
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[Question ID = 3355][Question Description = 102_10_ARC_SEP22_S2_Q02]
1. 1 [Option ID = 13417]
2. 2 [Option ID = 13418]



3. 3 [Option ID = 13419]
4. 4 [Option ID = 13420]

3)
The study of the processes that affect crganic remains-after death is known as

1. Phylogeny

2. Palaeozoolegy
3. Palaeontology
4. Taphonomy
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[Question ID = 3356][Question Description = 103_10_ARC_SEP22_S2_Q03]

1. 1 [Option ID = 13421]
2. 2 [Option ID = 13422]
3. 3 [Option ID = 13423]
4. 4 [Option ID = 13424]

4)

Which of the following is NOT a characteristic feature of pastoral nemadism?
1. Dependence of their econemy on breeding of their animals
2. The migratory character of life

3. Sedentism
4. Orientation towards substance production
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[Question ID = 3357][Question Description = 104_10_ARC_SEP22_S2_Q04]

1. 1 [Option ID = 13425]
2. 2 [Option ID = 13426]
3. 3 [Option ID = 13427]
4. 4 [Option ID = 13428]



5)
Hominid baby skull is found fram Odai, situated in

1, Maharashtra
2. Tamil Nadu
3. Kamataka

4, Kerala
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[Question ID = 3358][Question Description = 105_10_ARC_SEP22_S2_QO05]
1. 1 [Option ID = 13429]
2. 2 [Option ID = 13430]
3. 3 [Option ID = 13431]
4. 4 [Option ID = 13432]

6)
The earliest tools from Olduvai Gorge site are reported from

1.Bed |

2.Bed |l
3.Bed lll
4. Bed IV
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[Question ID = 3359][Question Description = 106_10_ARC_SEP22_S2_Q06]
1. 1 [Option ID = 13433]
2. 2 [Option ID = 13434]
3. 3 [Option ID = 13435]
4. 4 [Option ID = 13436]



7)

Early Schan belengs to which inter-glacial period?
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[Question ID = 3360][Question Description = 107_10_ARC_SEP22_S2_Q07]
1. 1 [Option ID = 13437]
2. 2 [Option ID = 13438]
3. 3 [Option ID = 13439]
4. 4 [Option ID = 13440]

8)
When the Levallois technique came into existence?

1. Lower Palaevlithic

2. Middle Palaeolithic
3. Upper Palaeolithic

4. Mesolithic
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[Question ID = 3361][Question Description = 108_10_ARC_SEP22_S2_Q08]
1. 1 [Option ID = 13441]
2. 2 [Option ID = 13442]
3. 3 [Option ID = 13443]
4. 4 [Option ID = 13444]



9)
Which of the following site was excavated in India under salvage archaeology?

1. Arikamedu

2. Nagarjunakonda
3. Mahabalipuram
4. Bharhut
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[Question ID = 3362][Question Description = 109_10_ARC_SEP22_S2_Q09]

1. 1 [Option ID = 13445]
2. 2 [Option ID = 13446]
3. 3 [Option ID = 13447]
4. 4 [Option ID = 13448]

10)
Whio gave the term "dancing girl' to the retrieved branze female figurine of Mohenjadaro?

1. A. Cunninghum
2.R. D. Banerjee
3. Jahn Marshall
4. D. R. Sahni
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[Question ID = 3363][Question Description = 110_10_ARC_SEP22_S2_Q10]
1. 1 [Option ID = 13449]
2. 2 [Option ID = 13450]
3. 3 [Option ID = 13451]
4. 4[Option ID = 13452]



11)
From which of the following sites, Ostrich egg shells are not found?

1. Uttar Pradesh

2. Madhvya Pradesh
3. Rajasthan

4. Odisha
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[Question ID = 3364][Question Description = 111_10_ARC_SEP22_S2_Q11]
1. 1 [Option ID = 13453]
2. 2 [Option ID = 13454]
3. 3 [Option ID = 13455]
4. 4 [Option ID = 13456]

12)

The Chalcolithic site of Qjiyana is situated in which of the following states?
1. Gujarat

2. Rajasthan

3. Madhya Pradesh

4. Maharashtra
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[Question ID = 3365][Question Description = 112_10_ARC_SEP22_S2_Q12]
1. 1 [Option ID = 13457]
2. 2 [Option ID = 13458]
3. 3 [Option ID = 13459]
4. 4 [Option ID = 13460]



13)

The Chalcolithic site of Ganeshwar is situsted in

1. Narmada Valley
2. Bannu Valley

3. Baleshwar Valley
4. Saraswati Valley
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[Question ID = 3366][Question Description = 113_10_ARC_SEP22_S2_Q13]
1. 1 [Option ID = 13461]
2. 2 [Option ID = 13462]
3. 3 [Option ID = 13463]
4. 4 [Option ID = 13464]

14)
Which of the following archaeological site is situated on the bank of Chhoti Kali Sindh river?

1. Kayatha

2. Navadatol
3. Nagda

4. Pipri
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[Question ID = 3367][Question Description = 114_10_ARC_SEP22_S2_Q14]
1. 1 [Option ID = 13465]
2. 2 [Option ID = 13466]
3. 3 [Option ID = 13467]
4. 4 [Option ID = 13468]



15)
Which of the following universities became the first univiersity in India to participate in excavations?

1. University of Delhi

2. University of Calcutta
3. University of Rajasthan
4. University of Lucknow
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[Question ID = 3368][Question Description = 115_10_ARC_SEP22_S2_Q15]
1. 1 [Option ID = 13469]
2. 2 [Option ID = 13470]
3. 3 [Option ID = 13471]
4. 4 [Option ID = 13472]

16)
Who termed megalithic pottery as "'Russet coated ware'?

1. M. Wheeler

2. B. K. Thapar

3. M. N. Deshpande
4. Gogte

e HemmE e U @ e Bies IR FEUH SaI 8 7

1. 08, ieN
2.9, %, 4T
3.UH, T, ¢uis
4.7

[Question ID = 3369][Question Description = 116_10_ARC_SEP22_S2_Q16]
1. 1 [Option ID = 13473]
2. 2 [Option ID = 13474]
3. 3 [Option ID = 13475]
4. 4 [Option ID = 13476]



17)
‘Hathi Well’ or *Elephant Well' section wherein there is a 12-13 'meters thick deposit representative

section is reported from which ofthe following archasclogical site?

1. Nevasa
2. Jalalpur
3. Daimabad
4. Bhimbetka
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[Question ID = 3370][Question Description = 117_10_ARC_SEP22_S2_Q17]
1. 1 [Option ID = 13477]
2. 2 [Option ID = 13478]
3. 3 [Option ID = 13479]
4. 4 [Option ID = 13480]

18)
Which of the following site is not located in the state of Bikar?

1. Seneur
2. Chirand
3. Golbai
4. Maner
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[Question ID = 3371][Question Description = 118_10_ARC_SEP22_S2_Q18]
1. 1 [Option ID = 13481]
2. 2 [Option ID = 13482]
3. 3 [Option ID = 13483]
4. 4 [Option ID = 13484]



19) Which of the following Harappan sites:is not located in Harayana?
1. Kunal

2. Bhirrana

3. Bara

4. Rakhigarhi
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[Question ID = 3372][Question Description = 119_10_ARC_SEP22_S2_Q19]
1. 1 [Option ID = 13485]
2. 2 [Option ID = 13486]
3. 3 [Option ID = 13487]
4. 4 [Option ID = 13488]

20) Which of the following sites is not located in Karmataka?
1. Maski

2. Tekkalakotta

3. Velpumadugu

4. Hallur

Fafofed & 9 &9 9T [Wee @alce | Rud e 8 7

1, AFDT
PR
3.9¢0951
4. BN

[Question ID = 3373][Question Description = 120_10_ARC_SEP22_S2_Q20]
1. 1 [Option ID = 13489]
2. 2 [Option ID = 13490]
3. 3 [Option ID = 13491]
4. 4 [Option ID = 13492]

21)
Which of the following ancient urban centers'is devoid of fortification?

1, Shravasti

2. Ahichhatra

3. Shishupalgarh
4. Kausambi
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[Question ID = 3374][Question Description = 121_10_ARC_SEP22_S2_Q21]

1. 1 [Option ID = 13493]
2. 2 [Option ID = 13494]
3. 3 [Option ID = 13495]
4. 4 [Option ID = 13496]

22)
The plan of the Maniyar math at Rajair is

1. Cireular
2. Apsidal
3. 5quare
4. Rectangular
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[Question ID = 3375][Question Description = 122_10_ARC_SEP22_S2_Q22]

1. 1 [Option ID = 13497]
2. 2 [Option ID = 13498]
3. 3 [Option ID = 13499]
4. 4 [Option ID = 13500]

23)
The seal inscribed as 'Samaveda’ is found from which of the following sites?

1. Malhar

2. Ujjain

3. Tarighat

4. Chandraketugarh
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[Question ID = 3376][Question Description = 123_10_ARC_SEP22_S2_Q23]

1. 1 [Option ID = 13501]
2. 2 [Option ID = 13502]
3. 3 [Option ID = 13503]
4. 4 [Option ID = 13504]

24)
Which of the following site is known as Pompuhar?

1. Arikamedu

2. Manikpatna

3. Kaveripatinam
4. Muchiri
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[Question ID = 3377][Question Description = 124_10_ARC_SEP22_S2_Q24]
1. 1 [Option ID = 13505]
2. 2 [Option ID = 13506]
3. 3 [Option ID = 13507]
4. 4 [Option ID = 13508]

25)

The famous terracotta ‘panchachuda’ figurine has been found from
1. Shishupalgarh
2. Chandraketugarh
3. Budhigarh
4. Junagarh
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[Question ID = 3378][Question Description = 125_10_ARC_SEP22_S2_Q25]
1. 1 [Option ID = 13509]
2. 2 [Option ID = 13510]
3. 3 [Option ID = 13511]
4. 4[Option ID = 13512]

26)
The Nigali Sagar inscription of Ashoka records the stupa of

. Shakyamuni
. Kanakmuni
. Sariputta

ST W T 55 [}

. Nagarjuna

HIMH & e AR SHeE H | 3 Swid 5 ;
1. HH

2. D i

quf‘{g'rg

4, RS
[Question ID = 3379][Question Description = 126_10_ARC_SEP22_S2_Q26]
1 [Option ID = 13513]
2 [Option ID = 13514]

3 [Option ID = 13515]
4 [Option ID = 13516]

A w N =

27)
The present day Ashokan pillar inside the Ferozshah Kotla wasshifted from

1. Kosam
2. Meerut
3. Mehrauli

4. Topra
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[Question ID = 3380][Question Description = 127_10_ARC_SEP22_S2_Q27]
1. 1 [Option ID = 13517]
2. 2 [Option ID = 13518]
3. 3 [Option ID = 13519]
4. 4 [Option ID = 13520]



28)
Who identified king ‘Piyadasi' as Mauryan king Ashoka based on the Pali texts?

1. Gegrge Turneur
2. Charles Wilkins:
3. James Prinsep

4. Charles Masson
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[Question ID = 3381][Question Description = 128_10_ARC_SEP22_S2_Q28]
1. 1 [Option ID = 13521]
2. 2 [Option ID = 13522]
3. 3 [Option ID = 13523]
4. 4 [Option ID = 13524]

29)
Mix metal ‘Billon’ type coins'is an alloy of

1. Silver and Geld

2. Silver and Copper
3. Silver and Lead

4. Silver and Tin
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[Question ID = 3382][Question Description = 129_10_ARC_SEP22_S2_Q29]
1. 1 [Option ID = 13525]
2. 2 [Option ID = 13526]
3. 3 [Option ID = 13527]
4. 4 [Option ID = 13528]



30)
Which of the following inscriptions referte the names of Kalidasa and Bharavi?

1. &llahabad inscription

2. Hathigumpha inscription
3. Besnagar inscription

4. Aihele inscription
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[Question ID = 3383][Question Description = 130_10_ARC_SEP22_S2_Q30]
1 [Option ID = 13529]
2 [Option ID = 13530]
3 [Option ID = 13531]
4 [Option ID = 13532]

A w N =

3 Which of the following dynasties did not issue any cain?
1. Gupta

2. Somavamshi

3. Sarabhapuriya

4. Kalachuri
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[Question ID = 3384][Question Description = 131_10_ARC_SEP22_S2_Q31]
1 [Option ID = 13533]
2 [Option ID = 13534]
3 [Option ID = 13535]
4 [Option ID = 13536]

A w N =

32)
The Abhisheka-Lakshimi motif appears'on the coins of

1. Demietrius
2. Azes- |

3. Agathocleus
4. Azilises
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[Question ID = 3385][Question Description = 132_10_ARC_SEP22_S2_Q32]
1. 1 [Option ID = 13537]
2. 2 [Option ID = 13538]
3. 3 [Option ID = 13539]
4. 4 [Option ID = 13540]

33)
Which of the following temples depicts the scene of marriage of Shiva in the presence of Ganesha?

1. Mukteshwara

2. Parashurameshwara
3. Bharateshwara

4. Lingaraja
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[Question ID = 3386][Question Description = 133_10_ARC_SEP22_S2_Q33]
1. 1 [Option ID = 13541]
2. 2 [Option ID = 13542]
3. 3 [Option ID = 13543]
4. 4 [Option ID = 13544]

34)
According to the Jaina Shewtambara tradition, which of the following tirthankara was a female?

1. Shantinatha

2. Mallinatha

3. Neminatha

4. Chandraprabhanath
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[Question ID = 3387][Question Description = 134_10_ARC_SEP22_S2_Q34]
1. 1 [Option ID = 13545]
2. 2 [Option ID = 13546]
3. 3 [Option ID = 13547]
4. 4 [Option ID = 13548]

35)
Which of the following is the first long inscriptien in Sanskrit in the Indian sub-continent?

1. Rudradaman’s Junagarh Inscription

2. Samudragupta's Allahabad Inscription
3. Nanaghat Inscription

4. Nasik Inscription
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[Question ID = 3388][Question Description = 135_10_ARC_SEP22_S2_Q35]
1. 1 [Option ID = 13549]
2. 2 [Option ID = 13550]
3. 3 [Option ID = 13551]
4. 4 [Option ID = 13552]

36)
The Vaikuntha sculpture from Mathura has faces represerniting

1. Vishnu, Narasimha, Matsya
2. Vishnu, Varaha, Matsya

3. Vishnu, Narasimha, Varaha
4. Vishnu, Vamana, Varaha
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[Question ID = 3389][Question Description = 136_10_ARC_SEP22_S2_Q36]
1. 1 [Option ID = 13553]
2. 2 [Option ID = 13554]
3. 3 [Option ID = 13555]
4. 4 [Option ID = 13556]



37)

The Chennakeshava temple at Belur wasbuilt in the year

1.1114 AD
2.1115 AD
3.1117 AD
4.1119 AD
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[Question ID = 3390][Question Description = 137_10_ARC_SEP22_S2_Q37]
1 [Option ID = 13557]
2 [Option ID = 13558]
3 [Option ID = 13559]
4 [Option ID = 13560]

A w N =

38) The earliest examples of Jaina paintings in south India are found in
1. Panamallai

2. Tiruparutikundram

3. Sittanavasal

4. Kanchipuram
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[Question ID = 3391][Question Description = 138_10_ARC_SEP22_S2_Q38]
1 [Option ID = 13561]
2 [Option ID = 13562]
3 [Option ID = 13563]
4 [Option ID = 13564]

A w N =

39) Pick the odd ene out ;
1. APA

2. MLA

3. TURABIAN

4 SCHOLAR
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[Question ID = 3392][Question Description = 139_10_ARC_SEP22_S2_Q39]

A w N =

40)

1 [Option ID = 13565]
2 [Option ID = 13566]
3 [Option ID = 13567]
4 [Option ID = 13568]

MLA stands for in reference style.

1, Medeam Library Association
2. Modem Language Association
3. Modemn Linguistic Assaciation
4. Modem Liberal Assodiation
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[Question ID = 3393][Question Description = 140_10_ARC_SEP22_S2_Q40]

A w N =

41)

1 [Option ID = 13569]
2 [Option ID = 13570]
3 [Option ID = 13571]
4 [Option ID = 13572]

Which of the following Princely states established their own departments of archaeclogy during
1900-1920s?

A, Gwalior

B. lind

C. Hyderabad

D. Jaipur

Cheose the correct answer from the options given below;

1.4, Band Conly
2. A, Band D only
3.B and D only

4.4 Cand Donly
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[Question ID = 3394][Question Description = 141_10_ARC_SEP22_S2_Q41]
1. 1 [Option ID = 13573]
2. 2 [Option ID = 13574]
3. 3 [Option ID = 13575]
4. 4 [Option ID = 13576]

42)
The Sanghao cave is stratigraphically related to the following period/s:

A, Lower Palaealithic

B, Middle Palaeolithic

C. Upper Palaeolithic

D. Mesolithic

Choose the correct answer fram the options given below:

1. A and B only
2.Band C only
3. A and Conly
4. B and D only
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[Question ID = 3395][Question Description = 142_10_ARC_SEP22_S2_Q42]
1. 1 [Option ID = 13577]
2. 2 [Option ID = 13578]
3. 3 [Option ID = 13579]
4. 4 [Option ID = 13580]

43)
In which of the following periads, the modern genre of animals appeared?

A, Cretaceous

B, Tertiary

C. lurassic

D. Quaternary

Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and D only
4. B and C only
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[Question ID = 3396][Question Description = 143_10_ARC_SEP22_S2_Q43]
1. 1 [Option ID = 13581]
2. 2 [Option ID = 13582]
3. 3 [Option ID = 13583]
4. 4 [Option ID = 13584]

44)

The Pleistocene formation from the Middle Sen Valley includes the following:
A layal

B, Sihawal

C. Patpara

D. Baghor

Choose the correct answer from the options given below:

1.A, Band C only
2.B,Cand Donly
3.A BandDonly
4. A, Cand Donly
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[Question ID = 3397][Question Description = 144_10_ARC_SEP22_S2_Q44]
1. 1 [Option ID = 13585]
2. 2 [Option ID = 13586]
3. 3 [Option ID = 13587]
4. 4 [Option ID = 13588]

45)

Which of the follewing schiolars are associated with prehistoric research?
A, R. P, Pandey

B, K. Paddayya

C. A K Dubey

D.J. N. Pal

Choose the correct answer from the options given below:

1.4, Band Conly
2. A, Cand D only
3.Band Conly

4. A, Band D only



Fmiaad ¥ @ fagr wiilidenae Y 0 8 T e 6 7
A 3R, 91, 9fsT

B, @, 9ad]

C. 9 %.3d

D. %, &, T

=74 fqu T faded| & 8§ W51 IR 9 ;

1. %5a0 A, B AR C

2. a8 A, CHRD

3 HIABARC
4. FaAA BHRD

[Question ID = 3398][Question Description = 145_10_ARC_SEP22_S2_Q45]
1. 1 [Option ID = 13589]
2. 2 [Option ID = 13590]
3. 3 [Option ID = 13591]
4. 4 [Option ID = 13592]

46)

Hominid/Human fossils: have been found from

A. Hathnora

B. Bagor

C. Odai

D. Langhnaj

Choose the correct answer from the options given below:

1.4, Band Conly
2. A and B only
3. A and C only
4. Cand D anly



I1feH Hd & SiareE U gU ©
A BRI

B, G

C. 3Gl

D. g

+rd feu e famed & € 981 IR 9 -
1. Ba0 A BIR C

2. Haa A AL B

3. AT A AR C

4. HIAC IR D

[Question ID = 3399][Question Description = 146_10_ARC_SEP22_S2_Q46]
1. 1 [Option ID = 13593]
2. 2 [Option ID = 13594]
3. 3 [Option ID = 13595]
4. 4 [Option ID = 13596]

47)
The geological profile of prehistory in the Deccan includes the following:

A, Bori Formation

B. Shivalik Formation

C. Chandrapuri Formation

D. Godavari Farmation

Choose the correct answer fram the options given below:

1.A, Band C only
2.4, Cand Donly
3.A BandDonly
4. A and D only



g &) Uiiaerg Fgfaias Yy e g defifa 8.
A, SR S

B, Rmanfeis 519

C. dggdl 5iHE

D. 7IIGIaR] 5H1g

4 fau G fadedl 5 8 ¥81 S 9 ;

1,590 A, B R C

2.had A, C 3R D

3.%aa A B3R D
4. HIAA AR D

[Question ID = 3400][Question Description = 147_10_ARC_SEP22_S2_Q47]
1. 1 [Option ID = 13597]
2. 2 [Option ID = 13598]
3. 3 [Option ID = 13599]
4. 4 [Option ID = 13600]

48)

The fire altars are reported from

A, Dholavira

B. Kalibangan

C. Lothal

D. Kuntasi

Choose the correct answer from the options given below:

1. A and B only
2. A, Band Conly
3.Band C only
4. B and D only



SfiafesT giadlea & -
A, eIy

B, BRI

C. T

D. HTEl

+rd feu e famed & € 981 IR 9 -
1. ®Had A 3R B

2. had A B3R C

3.Haa B IR C

4 Haap ARD

[Question ID = 3401][Question Description = 148_10_ARC_SEP22_S2_Q48]
1. 1 [Option ID = 13601]
2. 2 [Option ID = 13602]
3. 3 [Option ID = 13603]
4. 4 [Option ID = 13604]

49)

Which of the following sites show the transition from early Harappan to the mature Harappan?
A, Kunal

B. Kalibangan

C. Dhatlavira

D. Harappa

Choose the correct answer from the options given below:

1.A, Band C only
2.4, Band D only
3.Band C only

4. A, Cand Donly



FafeiEd 9 9 & 91/8 Ry 3 e € g5 oid &) §sfda etd 87
A, DU

B, BRI

C. TR

D. g8l

+rd feu e famed & € 981 IR 9 -
1. Ba0 A BIR C
2.Had A BIRD

3.FAEB AR C
4. HaaA CHRD

[Question ID = 3402][Question Description = 149_10_ARC_SEP22_S2_Q49]
1. 1 [Option ID = 13605]
2. 2 [Option ID = 13606]
3. 3 [Option ID = 13607]
4. 4 [Option ID = 13608]

50)

Which of the following tools are part of "Copper Hoard" culture?
A, Ring

B. Harpoon

C. Bar celt

D. Sickle

Choose the correct answer from the options given below:

1.A, Band C only
2. A and B only
3.A Cand D only
4. A and D only



Fafcied § TERR S S eusi e d e 7
A B3]/ Bl

B, Heg HIE

C. ¥G=l Hea

D. Bred]

+rd feu e famed & € 981 IR 9 -
1.Haa A BIR C

2. Hhad AR B

3.HaA A, CHRD

4 HIAASMRD

[Question ID = 3403][Question Description = 150_10_ARC_SEP22_S2_Q50]
1. 1 [Option ID = 13609]
2. 2 [Option ID = 13610]
3. 3 [Option ID = 13611]
4. 4 [Option ID = 13612]

51)

Which of the following Harappan sites-revealed the evidences of cemetery?
A, Kunal

B, Girawar

C. Sannauli

D. Farmana

Choose the correct answer from the options given below:

1.A, Band C only
2. A and B only
3. A and Conly
4. Cand D only



Faiciad H ¥ i sy IRec| 4 a1y & WA UK g 87
A, U

g, figs

C. Gl

D. BHHAT

+rd feu e famed & € 981 IR 9 -

1.Haa A BIR C

2. Hhad AR B

3.HaaA AR C

4. Haa C 3R D

[Question ID = 3404][Question Description = 151_10_ARC_SEP22_S2_Q51]
1. 1 [Option ID = 13613]
2. 2 [Option ID = 13614]
3. 3 [Option ID = 13615]
4. 4 [Option ID = 13616]

52)

Which of the following megalithic sites are located in Karnataka?
A Brahmagiri

B, Arikamedu

C. Budihal

D. Maski

Choose the correct answer from the options given below:

1.A, Band C only
2.4, Cand Donly
3. A and Conly
4. A and D only



+rd feu e famed & € 981 IR 9 -
1. Ba0 A BIR C
2.Ha0 A CIRD

3. AT A AR C

4. HIAA AR D

[Question ID = 3405][Question Description = 152_10_ARC_SEP22_S2_Q52]
1. 1 [Option ID = 13617]
2. 2 [Option ID = 13618]
3. 3 [Option ID = 13619]
4. 4 [Option ID = 13620]

53)

Which of the following were the sanitary arrangements of NEPW culture?
A Ring wells

B, Dumps

C. Drainage

D. Soakage Jars

Choose the correct answer fram the options given below:

1. A and B only
2. A and Conly
3.Band C only
4. A and D only



o 41 01 S0y G5l @I 9t fagei- caae 4 Geiid g
A, BEiGR Y

B, &

C. ATl (&)

D. GiEil ISe

+rd feu e famed & € 981 IR 9 -

1. ®Had A 3R B

2 HaaAARC

3.HaaB AR C

4 HIAAMRD

[Question ID = 3406][Question Description = 153_10_ARC_SEP22_S2_Q53]
1. 1 [Option ID = 13621]
2. 2 [Option ID = 13622]
3. 3 [Option ID = 13623]
4. 4 [Option ID = 13624]

54)
Which of the following market-towns are mentianed in the Peryplus of the Erithrean Sea?

A, Paithan

8. Ter

C. Kalyan

D. Pushkalawati

Choose the correct answer fram the options given below:

1.4, Band D only
2.Band C only
3.4 Band Conly
4. A and Conly

Ifoey oifE fo tREma 4 Fefefag S @ sn-ar s [Rg a2

D. U&paTadl
4 fau e fased! & 9§ Wel 9w g ;

1.%aa A BIR D
2.PaaB AR C
3.haa A BIRC
4 B A AR C



[Question ID = 3407][Question Description = 154_10_ARC_SEP22_S2_Q54]
1. 1 [Option ID = 13625]
2. 2 [Option ID = 13626]
3. 3 [Option ID = 13627]
4. 4[Option ID = 13628]

55)

According to Stella Kramrisch, the Sadashiva image of Elephanta depicts the forms of Shiva as
A, Aghora

B, Vamadeva

C. Sadyojata

D. Chandrashekhar

Choose the correct answer fram the options given below;

1.4, Band C only
2. A BandDonly
3.Band C only
4.4 and B only

T HHINT B HTUR CleTde] @ TaIieId UioH 1219 o [t gl @ Wi @30l &
A, HIR

B, AMGd

C. T

D. THET

4 feu ¢ faeed 8 S W8 o 9

1.5aa A BIR C
2. 580 A BIRD
3. HaaB AN C
4 HaaAALB

[Question ID = 3408][Question Description = 155_10_ARC_SEP22_S2_Q55]
1. 1 [Option ID = 13629]
2. 2 [Option ID = 13630]
3. 3 [Option ID = 13631]
4. 4 [Option ID = 13632]



56)
Which of the following books are authored by B, and R. Allchin?

A, Birth ef Indian Civilization

B, Rise of Civilization In India and Pakistan

C. Indus Civilization Sites inIndia : New Discoveries

D. Indus-Saraswati Civilization

Cheose the correct answer fram the options given below;

1.4 and B only
2. A and Conly
3.Aand D enly
4.B and C only

Fafoied & 9 oH-21 O 9@ &1, 3% 3R, 3ifva g’ g1 fofad & 2
A, & g4 1w 35y fafaasesH

8. fo 5w o fafaasaem 34 sfea s ufeem

D. & Z39-uad] ffamseee

+rd feu e famed & € 981 IR 9 -

1. ®Had A 3R B

2 HaaAARC

3.5 A AR D

4. Haae N C

[Question ID = 3409][Question Description = 156_10_ARC_SEP22_S2_Q56]
1. 1 [Option ID = 13633]
2. 2 [Option ID = 13634]
3. 3 [Option ID = 13635]
4. 4 [Option ID = 13636]



57)

The four lion capital in Ashokan pillar are seen at

A, Sanchi

B. Sarnath

C. Rampurva

D. Bakhira

Cheose the correct answer from the options given below;

1.4 and B only
2. A and Conly
3. A, Band Conly
4.4, BandDonly

I Fige 3 e & o H WU 8ld & 2
A, ST

B, G-

C. IHET

D. §E

+rd feu e famed & € 981 IR 9 -
1, A A AR B

2Hmaa A AR C

3.%aE A BSIRC

4. Haa A BIRD

[Question ID = 3410][Question Description = 157_10_ARC_SEP22_S2_Q57]
1. 1 [Option ID = 13637]
2. 2 [Option ID = 13638]
3. 3 [Option ID = 13639]
4. 4 [Option ID = 13640]



58)

The Mahabalipuram Shore temple comprises of following shrines:
A, Talagiriswara

B, Kshatriyasimheshwara

C. Rajasimheshwara

D. Narapatisimhapallava Vishnugriha

Cheose the correct answer fram the options given below;

1. A, Band Conly
2. B, Cand Donly
3.A BandDonly
4.4 Cand Donly

HeEnRd 1 UR Aiex FEfifEd segd o deta s -
A, TR

B, &ETTESaR

C. AR

D. “Ruld [H§ uewd fawrg

4 fau G fadedl 5 8 ¥81 S 9 ;

1590 A, B R C

2998, CIND

3.%aa A B3R D
4. ®HIAA CHRD

[Question ID = 3411][Question Description = 158_10_ARC_SEP22_S2_Q58]
1. 1 [Option ID = 13641]
2. 2 [Option ID = 13642]
3. 3 [Option ID = 13643]
4. 4 [Option ID = 13644]



59)

The Mediterranean Amphara and Terra sigillata have been reported from
A, Arikamedu

B, Kanchipuram

C. Uraiyur

D. Rajaghat

Cheose the correct answer from the options given below;

1.4, Band Conly
2. A and B only
3. A and Conly
4.Band C only

e O TERR SR o R e gu 8 :
A, HRPHZ

B, BIAIH

C. SR ¥R

D. IFYRE

TaRum it d 4 9 IR

1. a0 A BIAR C

2. Haa A B

3. WA A ARC

4.%HaaB AN C

[Question ID = 3412][Question Description = 159_10_ARC_SEP22_S2_Q59]
1. 1 [Option ID = 13645]
2. 2 [Option ID = 13646]
3. 3 [Option ID = 13647]
4. 4 [Option ID = 13648]



60)

The temples at Khajuraho are made of
A, Sandstone

B, Limestone

C. Marble

D. Granite

Cheose the correct answer from the options given below;

1.4, Band Conly
2. A and B only
3. A and Conly
4. A and Donly

EoUTe! & Ak FHG B -

A, ST TR

B, I GeR

C. G

D. I\ BT

=74 fqu T faded| & 8§ W51 IR 9 ;
1. %5a0 A, B AR C

2. a0 A 3R B

3HIAAARC
4. FITAARD

[Question ID = 3413][Question Description = 160_10_ARC_SEP22_S2_Q60]
1. 1 [Option ID = 13649]
2. 2 [Option ID = 13650]
3. 3 [Option ID = 13651]
4. 4 [Option ID = 13652]



61)

Which of the following temples were built at Pattadakal by the queens of Vikramaditya-Il to
commemorate his victery againstthe Pallavas?

A Virupaksha

B. Mallikarjuna

C. Sangameshwara

D. Papanatha

Choose the correct answer fram the options given below:

1. A and B only
2. A and Conly
3.Aand D only
4. B and C only

UEawd J [wAIGH fGaid @1 U-1 & R Uoedl I 3491 oiid & WRE & ¥ § Hgifad 3§ 9 §H-
FHY A Eag e Y 7

A, faearg

B, AfTI®Ie

C. TR

D. IR

Jrd fgu T fawedf § 4 981 SR g
1. BT A IR B

2HaaAIMRC

3. H9aA AR D

4. Haa B AN C

[Question ID = 3414][Question Description = 161_10_ARC_SEP22_S2_Q61]
1. 1 [Option ID = 13653]
2. 2 [Option ID = 13654]
3. 3 [Option ID = 13655]
4. 4 [Option ID = 13656]



62)

Mir Zaksh: hoard consisted the coins of the following rulers:
A, Graeco-Bactrian

B, Indo-Greek

C. Kushana

D. Imperial Gupta

Cheose the correct answer from the options given below;

1.4, Band Conly
2. A, Cand D only
3.Band C only
4.Band D only

drome I FEEr s s e uael o Res ya g s -
A Uidi-dfgead
g, ISl

C. I

D. & XD

4 fau G fadedl 5 8 ¥81 S 9 ;
1,590 A, B R C

2. 590 A, CHR D

3.FaEB AR C
4. HgaB N D

[Question ID = 3415][Question Description = 162_10_ARC_SEP22_S2_Q62]
1. 1 [Option ID = 13657]
2. 2 [Option ID = 13658]
3. 3 [Option ID = 13659]
4. 4 [Option ID = 13660]



63)
Which of the following 64 Yogini temples are located in Odisha?

A, Bheraghat

B, Lalitpur

C. Hirapur

D. Ranipur Jharia

Cheose the correct answer fram the options given below;

1.4, Band Conly
2. A and B only
3.Cand D only
4. A and Donly

T 78 9.3 sa i dfcz sifsmd RE ¥ 2
A HSTHRE

B, Tfeiag

C. BRI

D. TG ST

+rd feu e famed & € 981 IR 9 -

1.Haa A BIR C

2. Hhad AR B

3.HIAC AR D

4 HIAASMRD

[Question ID = 3416][Question Description = 163_10_ARC_SEP22_S2_Q63]
1. 1 [Option ID = 13661]
2. 2 [Option ID = 13662]
3. 3 [Option ID = 13663]
4. 4 [Option ID = 13664]



64)

Which of the following sites are located in Maharashtra?
A, Adam

B, Tripuri

C. Mahurjhari

D. Nikund

Cheose the correct answer from the options given below;

1. A, Band Conly
2. B and C only
3.B and D only
4.4 Cand Donly

FRiaRad ¥ -4 [RRs "Ry 4 R § 2
A SGH

g, B

C. Jgi=it

D. 7SS

=74 fqu T faded| & 8§ W51 IR 9 ;

1. %5a0 A, B AR C

2. %8B AR C

3. g B 3R D
4. HaAA CIHARD

[Question ID = 3417][Question Description = 164_10_ARC_SEP22_S2_Q64]
1. 1 [Option ID = 13665]
2. 2 [Option ID = 13666]
3. 3 [Option ID = 13667]
4. 4 [Option ID = 13668]



65)
The Kushana statues at Mat include

A, Vima Kadphises
B, Kanishka
C. Chastana
D. Huvishka

Cheose the correct answer from the options given below;

1.4, Band Conly
2. A, Band D only
3. A and B only
4.Band C only

Hie § g U Jid9 Wd g § -
A fGT wsiheg
B, B

C. 990

D. gfass

4 fau G fadedl 5 8 ¥81 S 9 ;
1,590 A, B IR C

2. 590 A, BIRD

3. Faa A AT B
4.HaaB N C

[Question ID = 3418][Question Description = 165_10_ARC_SEP22_S2_Q65]
1. 1 [Option ID = 13669]
2. 2 [Option ID = 13670]
3. 3 [Option ID = 13671]
4. 4 [Option ID = 13672]



66)
Match List | with List 1l

List | List 1l

Sites Nature

A. Golbai I. Palaeolithic

B. Mahurjhari =Ly
Historical

C. Hunsgi 1ll. Neolithic

B IV. Megalithic

Chandraketugarh

Choose the correct answer from the aptions given below:

TA-LB-ILC= LDV
ZA-ILB-1,C-IV,D-1Il
3A-ILB-M,C-,D-1I
4 A-ILB-LC-V,D-I

T -1 B -1 gHISE B

T | Tl -1l

A TTiTErs 1. URT QTSTOT dhret

B. HgSRl II. Wi UlagTias
C.3FN Jil. 13 TTYTO] BT
D. ISBTE I\v. HgTaTiiTE

1TA-1LB-ILC-1, D=1V
ZA-1L,B-1C-1v, D~
LA-NLB=IV,C-I, D=1
4A-NLB=-L,C-N D=l

[Question ID = 3419][Question Description = 166_10_ARC_SEP22_S2_Q66]
1. 1 [Option ID = 13673]
2. 2 [Option ID = 13674]
3. 3 [Option ID = 13675]
4. 4 [Option ID = 13676]



67)
Match List | with List 1l

List | List Il

Dating Method Material

A. Dendrochronelogy I. Volcanic Rack

B, Carbon-14 Il. Terracotia

C. 7L Dating . Org.}anic
material

D. K-Ar Dating IV. Timber

Choose the correct answer fram the options given below:

LA-LE-ILC-1LD-V
ZA-IVB-LC-IILD-1
3A-IVEB-ILC-,.D-1
4 4A-IVB-I,C-1,D-|

T -1 B -1 gHISE B

T | EElRl

A. Q& doig Odie | SETCTE! 9EH
B. BIE-14 I, g

¢. 2hum oty FHuRo I11. Sig® HaIw
D. UielmH-3mH fafl R fa&fEr V. &3l

1TA-1LB-ILC-1, D=1V
ZA-IV,B-1,C-lI, D=1
LA-NVB-I,C-1, D=
4LA-IV,B-LC-I, D~

[Question ID = 3420][Question Description = 167_10_ARC_SEP22_S2_Q67]
1. 1 [Option ID = 13677]
2. 2 [Option ID = 13678]
3. 3 [Option ID = 13679]
4. 4 [Option ID = 13680]



68)
Match List | with List 1l

List | List 1l
Type Example
A, Artifact . Lapidary
B. Ecofact I1. Skeleton
C. Feature I1l. Coin

D. Industry IV. Hearth

Choose the correct answer fram the options given below:

TA-LB-ILC-1I, D~V
2A-IVB-LC-|,D-1
JA-NLB-ILC-IV,D-|
4 A-1LE-IV,C-,D-1

Tl - P -1 gHf DI :

T | -1l

A, TG Did | FAHT
p. gIfa® 9 II. BT
C. T (11, Ry
D. JET V. el

1TA-1LB-ILC-1, D=1V
ZA-IV,B-1,C-ll, D~
LA-NLB=IL,C-1V, D~
4A-1,B-IV,C-|, D=1

[Question ID = 3421][Question Description = 168_10_ARC_SEP22_S2_Q68]
1. 1 [Option ID = 13681]
2. 2 [Option ID = 13682]
3. 3 [Option ID = 13683]
4. 4 [Option ID = 13684]



69)
Match List | with List 1l

List | List 1l

Site Excavator

A Kuchai L RE M,
Wheeler

B. Kausambi |Il. A. Nath

C. Adam 1ll. B. K. Thapar

2 IV. G.R. Sharma

Arikamedu

Choose the correct answer from the options given below:

TA-LB-ILC= LDV
ZA-LB-1LC-1I,D-V
3A-ILEBE-M,C-1,D-]
4A-ILB-LC-LD-V

Tl - Bl Il -1 Ao B ;

CER = -1

A TS I AR 5. T, @R
8. SR ILE Y

C.HEH I11, sft, &, 9o

D. dR@Rg IV, S, S 2E
1 U ¢ fadedl & | 9el I 9L

TA-LB-ILC-I, D=V
ZA-NLB=LC=1, D=1V
JA-ILB=-IV,C-1l, D~
LA-,B-ILC-1 D~V

[Question ID = 3422][Question Description = 169_10_ARC_SEP22_S2_Q69]
1. 1 [Option ID = 13685]
2. 2 [Option ID = 13686]
3. 3 [Option ID = 13687]
4. 4 [Option ID = 13688]



70)
Match List | with List 1l

List | List Il
Site Culture
A. Bhirrana I. Late Harappan
8. Bara Il. Mature Harappan
. 11, Early Mature
C. Grrawar
Harappan
D. Farmana IV. Early Harappan

Choose the correct answer fram the options given below:

LA-LE-ILC-1LD-V
ZA-ILB-N,C-IVM,D-
3A-B-MC-L,D-1
4A-IVEB-LC-IILD-1

T -1 B -1 gHISE B

T | EEiRl

A, ST |. IXadl sl

B. &TS1 11, famiad gam

c. firmae {11, Wi, [oeihd s
D. BEHHA] V. WRFES gswr

1TA-1LB-ILC-1, D=1V
ZA-1LB-1L,C-1IV, D-I
LA-NLB=IV,C-I, D=1
4A-IV,B-1,C-lI, D=1

[Question ID = 3423][Question Description = 170_10_ARC_SEP22_S2_Q70]
1. 1 [Option ID = 13689]
2. 2 [Option ID = 13690]
3. 3 [Option ID = 13691]
4. 4 [Option ID = 13692]



71)
Match List | with List 1l

List | List Il
Place .
Site
A. Karkabhat |. Port-site
B. Radhanagar Il Buddhist site
C. Manikpatna 1ll. Megalithic site
D. Vajragiri IV. Early Urban site

Choose the correct answer fram the options given below:

LA-LE-ILC-1LD-V
2A-1LB-LC-ILD-V
3A-B-MC-L,D-1
4. A-IVB-Il,C-1,D-1

T -1 B -1 gHISE B

T | gl -l

A, THBTHIE | O =TT

B. AR 11, S5 ORI

C. A Tel 111, FRTATHTIOTS YRR
D. TR Iv. RIS TTHT =

1TA-1LB-ILC-1, D=1V
ZA-1,B-1C-1ll, D~V
LA-NLB=IV,C-I, D=1
4A-IV,B-Il,C-1, D~

[Question ID = 3424][Question Description = 171_10_ARC_SEP22_S2_Q71]
1. 1 [Option ID = 13693]
2. 2 [Option ID = 13694]
3. 3 [Option ID = 13695]
4. 4 [Option ID = 13696]



72)
Match List | with List 1l

List | List li

Site State

A. Sannauli l. Punjab

B. Rohira Il. Haryana

C. Kunal lll. Karnataka

D. Brahmagin WLttt
Pradesh

Choose the correct answer from the options given below:

TA-LB-ILC= LDV
ZA-IV,B-ILC-,D-1
3A-LB-IV,C-1, D=1l
4 A-IV,B-LE-I,D-

T -1 B -1 gHISE B

T | EEIRL

A G I dolie
B.3ATEw I1. B

C. PO 11, Fle®H
D. SR V. STR UG

1TA-1LB-ILC-1, D=1V
ZA-N,B-1I,C-|, D=1
LA-ILB-IV,C-1, D=1
4A-IV,B-1,C-1l, D~

[Question ID = 3425][Question Description = 172_10_ARC_SEP22_S2_Q72]
1. 1 [Option ID = 13697]
2. 2 [Option ID = 13698]
3. 3 [Option ID = 13699]
4. 4 [Option ID = 13700]



73)
Match List | with List 1l

List | List Il
Author

Book

A. D, K. Bhattacharya |l Early History of India
B. V. A, Smith 1. Ashoka and the Decline of the Mauryans

C. H. C. Raychaudhari ||ll. Prehistoric Archaeology

D. Romila Thapar V. Palitical History of Anclent India

Choose the correct answer fram the options given below:

LA-LE-ILC-1LD-V
2 A-LB-LC-IL,D-V
3A-ILB-LE-IV,D-]l
4. A-IVB-Il,C-1,D-1

il -1 B -1 gHfed S

CER gt -l
A S . Yo I. 3Tl TR 3T Sisd
8.9 T &y I1. 32T UUS & Saxile SiH & A

cw @ umEEd | Wi e

D. e ure Iv. Uifaiemd fexdi Hiw UiRm-= gftsar
+id fqu e [deedl H 9 98l St 49U ;
1.A-1,B=-IL,C=ll, D-1IV

2A-1LB=1,C=1l, D=1V

3.A-LB=1,C=IV, D=l

4 A-IV,B-1I,C-1, D=

[Question ID = 3426][Question Description = 173_10_ARC_SEP22_S2_Q73]
1. 1 [Option ID = 13701]
2. 2 [Option ID = 13702]
3. 3 [Option ID = 13703]
4. 4 [Option ID = 13704]



74)
Match List | with List 1l

List | List Il
Author
Book
A. B. B. Lal I, Indian Epigraphy
B.D.C Sircar II. Earliest Civilization of South-Easi Asia
C. P. L Gupta IIl. Temples of North India
D. Krishna Deva V. Coins

Choose the correct answer fram the options given below:

1T.A-ILB-IV, C- I, D-|
ZA-ILB-1LC-IV.D-
3A-LB-ILC-1ILD-V
4 A-NLB-LE-IV,D-1l

T -1 B -1 gHISE B

T | gt -0l

A, gl T |. 3050 SUMTH

BIHIEER | o RiaaseEE e 9ey-g%« U
cUmaTET | O HE A gited

D.PW&a V. BigH

1.A=1,B-1V,C-1ll, D-1

2A-1,B-1,C-1V, D=1l

3.A-1L,B-1L,C-1l, D=1V

4 A-1ILB=I,C=IV, D=1l

[Question ID = 3427][Question Description = 174_10_ARC_SEP22_S2_Q74]
1. 1 [Option ID = 13705]
2. 2 [Option ID = 13706]
3. 3 [Option ID = 13707]
4. 4 [Option ID = 13708]




75)
Match List | with List 1l

List | List Il

Coin Site

A. Bent-Bar Cains | Kok
B. Gupta Coins IL. Taxila

C. Yaudheya Ceins Il. Bayana

D. Satavahana Coins ,
V. Jogalthambi

Choose the correct answer from the options given below:

LA-LB-IILE-ILD-V
ZA-ILB-NILC-L,D-IV
3A-LB-ILC-1ILD-V
4 A-LB-LC-ILD-IV

T -1 B -1 gHISE B

T | gl -l

A TS 9 g | FETEIE
B. T [Gas 11, TR
c. ey foes {11, FEET

D. UTdaTed (qad V. STy

1TA-1LB-lLC=1, D=1V
ZA-1LB-1LC-1, D=1V
LA-LB-ILC-1I, D=V
4A-LB=L,C=1, D=1V

[Question ID = 3428][Question Description = 175_10_ARC_SEP22_S2_Q75]
1. 1 [Option ID = 13709]
2. 2 [Option ID = 13710]
3. 3 [Option ID = 13711]
4. 4 [Option ID = 13712]



76)

Re-arrange the following in a chronological order;

&, Miocene

B. Holocene

C. Plioecene

D, Pleistocene

Choose the correct answer from the options given below

1.4 8 CD
2.4 D,8C
3.ACDEB
4 A CED

TaRum it d 4 9 IR
1.A, B CD
2.A,D,B,C

3.ACDB
4ACED

[Question ID = 3429][Question Description = 176_10_ARC_SEP22_S2_Q76]
1. 1 [Option ID = 13713]
2. 2 [Option ID = 13714]
3. 3 [Option ID = 13715]
4. 4 [Option ID = 13716]



77)

Re-arrange the following archaeological sites in chronelogical order:
A, Birbhanpur

B. Nevasa

C. Pallavaram

D, Chirand

Choose the correct answer from the options given below

1.4 8 CD
2.B,CAD
3.C,BAD
4D A B C

Fica el &1 SIasHITHR GAedaied ®1 ;
A FRYET

B, HATN

C. UeeidRA|

D. feig

=74 fqu T faded| & 8§ W51 IR 9 ;

1.A,B,C,D

2.B,CAD

3B AD
4 DA B C

[Question ID = 3430][Question Description = 177_10_ARC_SEP22_S2_Q77]

1. 1 [Option ID = 13717]
2. 2 [Option ID = 13718]
3.

4. 4 [Option ID = 13720]

3 [Option ID = 13719]



78)
Re-arrange the following Director Generals of the Archaeological Survey of India in chrenological

order;

A, John Marshall

B. A. Ghosh

C. D, R. Sahni

D, B. B. Lal

Choose the correct answer-from the options given below

1.4 CBD
2ZA B CD
3.B,CAD
4 CADE

HRATY QRTad Ha&0 & [HRcad Hel-aum] Bl SIemHaR eaeyd ®1
A, S ARl

B.U YUY

C. 31, 3R, e

D. &l &l o

+rd feu e famed & € 981 IR 9 -

1.A,C,B,D

2ZABCD

3.B,C A D

4.CADB

[Question ID = 3431][Question Description = 178_10_ARC_SEP22_S2_Q78]
1. 1 [Option ID = 13721]
2. 2 [Option ID = 13722]
3. 3 [Option ID = 13723]
4. 4 [Option ID = 13724]



79)

Re-arrange the following archaeological sites in a chronological order;
A, Sirpur

B. Puri

C. Vidisha

D. Sanchi

Choose the correct answer from the options given below

1.A4,B,C,D
2.A,C,D,B
3.C,B,D,A
4.D,C A B

FafciEs QU &1 G- SIemATER JAd T Sl
A R

B, TH

c. fafeam

D. |4l

=74 fqu T faded| & 8§ W51 IR 9 ;

1.A,8,C,D

2.ACD,B

3.C,B, DA
4.D,CAB

[Question ID = 3432][Question Description = 179_10_ARC_SEP22_S2_Q79]

1. 1 [Option ID = 13725]
2. 2 [Option ID = 13726]
3.

4. 4 [Option ID = 13728]

3 [Option ID = 13727]



80)

Re-arrange the following menuments in a chronslogical arder;
A, Bhaja caves

B. Ajanta caves

C. Barabar Caves

D, Ellora Caves

Choose the correct answer from the options given below

1.4 8 CD
2.4 CBD
3.CABD
4 CBAD

Fafafed ¥ RS 3] 396 Basa-aR Hafed Sifed
A, HTST HTE

B, I~ HIY

C. &RTaR oI

D. TR oY

=74 fqu T faded| & 8§ W51 IR 9 ;

1.A,8,C,D

2.ACBD

3.0ABD
4 CEBAD

[Question ID = 3433][Question Description = 180_10_ARC_SEP22_S2_Q80]
1. 1 [Option ID = 13729]
2. 2 [Option ID = 13730]
3. 3 [Option ID = 13731]
4. 4 [Option ID = 13732]



81)

Re-arrange the following temples in a chrenolegical order:
A, Lakshman Temple

B. Vaital Temple

C. Brahmeshwara Temple

D, Jagannath Temple

Choose the correct answer from the options given below

1.4 8 CD
2.4 CBD
3.A DB C
44 CDB

ity A4 1 TR Hafd X Jol G @ 904 B
A, TEA HieR

B, gefTel Higx

C. SRR AfeT

D. ST HieY

=74 fqu T faded| & 8§ W51 IR 9 ;

1.A, B CD

2ACBD

3ADBC
4ACDE

[Question ID = 3434][Question Description = 181_10_ARC_SEP22_S2_Q81]
1. 1 [Option ID = 13733]
2. 2 [Option ID = 13734]
3. 3 [Option ID = 13735]
4. 4 [Option ID = 13736]



82)

Re-arrange the following Chola temples in a chronelegical sequence;
A, Airavateshwara Temple

B. Sundareshwara Temple

C. Koranganatha Temple

D, Brihadeshwara Temple

Choose the correct answer from the options given below

1.4 8 CD
2B, C DA
3.A, B DC
4B A CD

Fafaiad 3 Sl Al S SrapHER sdaid $ Fel 9tk 9
A, TRTEdHT AfSY

B, Yot Hik

C. BIRTAN At

D. e Hiax

4 fau G fadedl 5 8 ¥81 S 9 ;

1.A,B,C,D

2.B,C,D, A

3.A BDC
4B ACD

[Question ID = 3435][Question Description = 182_10_ARC_SEP22_S2_Q82]
1. 1 [Option ID = 13737]
2. 2 [Option ID = 13738]
3. 3 [Option ID = 13739]
4. 4 [Option ID = 13740]



83)
Re-arrange the following Buddhist sites in chronglogical crden

A, Ajanta

B. Ratnagiri

C. Sanchi

D, Langudi

Choose the correct answer from the options given below

1.4 8 CD
2.4 CBD
3.CADEB
4B DA C

Fafoied 9l el & e qaR Saiyd 1 9] 301 @ 994 B
A, 3T

B, TATAIR

C. 5l

D. TS

+rd feu e famed & € 981 IR 9 -
1.4,B.C,D

2ZA CB D

3.C A DB

4.8,DAC

[Question ID = 3436][Question Description = 183_10_ARC_SEP22_S2_Q83]
1. 1 [Option ID = 13741]
2. 2 [Option ID = 13742]
3. 3 [Option ID = 13743]
4. 4 [Option ID = 13744]



84)
Re-arrange the following in a chronological order;

&, Sarnath Buddha

B. Headless Statue of Kanishka

C. Didarganj Yakshini

D, Nataraja Shiva

Choose the correct answer from the options given below

1.ACDB
2B AD
3.A,BCD
4B A DC

FHfaRad @l SIapEHER ayd ©F Jal 3R @I 9di-d o1 -
A HRATY g5

B. B & H&® [agH Hid

C, HigRIe Feft

D. Texret |

-4 U e feded! 9 9 981 SR 9 -

1.A,C DB
2ZCEBAD
3.A B CD
4B ADC

[Question ID = 3437][Question Description = 184_10_ARC_SEP22_S2_Q84]
1. 1 [Option ID = 13745]
2. 2 [Option ID = 13746]
3. 3 [Option ID = 13747]
4. 4 [Option ID = 13748]



85)

Re-arrange the a"ollowing inscriptions in a chrenological sequence:
A, Sarmiath Buddha Image Inscription

B. Rock Edict 13 of Ashoka

C. Junagarh inscription of Rudradaman

D, Kirari wooden inscription

Choose the correct answer from the options given below

1.4 8.CD
2B, CAD
3.B,C,D A
4.D,B A C

Fafcied sl @ SrosHITeR dald o
A, GRATY g% uiod sifHeE
B. S1=I1® @I 13 4] [Reed

C. $gaIgT B TG HfieE

D. iR @18 WY e

4 fau ¢ faded! & 4 981 R 9 ;
1.A,B,CD

2.B,CAD

3.BCDA
4 DB AC

[Question ID = 3438][Question Description = 185_10_ARC_SEP22_S2_Q85]
1. 1 [Option ID = 13749]
2. 2 [Option ID = 13750]
3. 3 [Option ID = 13751]
4. 4 [Option ID = 13752]



86)

Given below are two statements, one is labelled as-Assertion A and the other is labelled as Reason
R

Assertion A : The tool types of the stone age of different phases represent the technological skills.

Reason R ;: Home erecius, Homo sapiens and Homosapiens sapiens - the three different species
represent the technological skill,

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are trile and R is the correct explanation of A

2. Both A and R are trie but R is NOT the correct explanation of A
3. A istrue but R is false

4. A s fals= but R is-true

Taa Ty RU e 1o o) ey (A) AR R & SR (R) $el M &l
HIUGY (A) : TT9TO O & HI9R] S0 0] o (31509 920 QiR IdIg @8 @l e ud &% 6l

TR (R) ; BHT 309, 5 Gaad SR sEraRds SEy - & See-sier ueifaal deiied SiEe
I fefad #3d gl

Iad BYHl & IS H FHidd e H 9 ¥el gt g4 ;

1. (A) IR (R) ST 9 § 9 (R), (4) & W&l SR B

2. (A) 3R (R) TFT 9 § U (R), (A) T Wel o el ¢

3.(A) TH & g (R) ST E|
4 (A)HTH g U (R) 9 8|

[Question ID = 3439][Question Description = 186_10_ARC_SEP22_S2_Q86]
1. 1 [Option ID = 13753]
2. 2 [Option ID = 13754]
3. 3 [Option ID = 13755]
4. 4[Option ID = 13756]

87)

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason
R

Assertion A : X-Ray Fluorescence Spectrametry (XRF) is 2 methad of chemical analysis.
Reason R : The technique is Used for analysing wooden artifacts.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are trie and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Alis true but R is false

4. A is false but R is-true



Tadl ey R e, @ o sfieyH (A) 3R ¢ & SR (R) Hal 14 &l
Aty (a) - te-faen ufadiig Seenfafa (rn ToEHe fGxee o1 ue ufafd 21
TR (R) ; T8 UiHdT &8 Aadid & G980 od Wi & &l g

Iudad Byl $ AT 4 FEifed [9Eedl § 8 ¥el I g

1. (A) 3R (R) BFT 9 & 37 (R), (A) BT Hel AT B |

2. (4) S (R) &HI 9 & U= (R), (A) B 9l SReAT el &

3.(A) TH 8 R (R) ST G
4 (A) G & U0 (R) 9T B

[Question ID = 3440][Question Description = 187_10_ARC_SEP22_S2_Q87]
1. 1 [Option ID = 13757]
2. 2 [Option ID = 13758]
3. 3 [Option ID = 13759]
4. 4 [Option ID = 13760]

88)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason
R

Assertion A: The growth of second urbanization in the 6% century in the Gangetic plains was due
to the iron technology,

Reason R: The surplus food production gave rise to urbanization.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are trie and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Alistrue but Ris false

4. A is false but R is-true

T al @y RUN S Us @ SiH@EYA (A) IR g8 @ GRY (R) @l Mgl

HIY@EYH (A) : 70 o e 4T H 231 Wdel d fgdig Yedwo) Wiedl @l 4@ e Weliiis] &
HROI G|

TR (R) ; A & P TG & SR YeAH0 gl
Iudad Byl & HElS | FRiied fAedd § 3w I I

1. (A) 3R (R) THT 9 & 3 (R), (A) BT Hel AT B |

2. (A) 3R (R) THT 9 € O3 (R), (A) P el Tl 81 8|
3. (A) T T (R) G B

4. (A) G g U (R) G g

[Question ID = 3441][Question Description = 188_10_ARC_SEP22_S2_Q88]
1. 1 [Option ID = 13761]
2. 2 [Option ID = 13762]
3. 3 [Option ID = 13763]
4. 4 [Option ID = 13764]



89)

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason
R

Assertion A: The Bharhut reliefs look like plasticine figures on a flat board.
Reason R: They appear without any suggestion of depth in the background.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are trie and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Alistrue but Ris false

4. A is false but R is-true

+id &l @y RUIL 8 U &l HHEYA (A) AR GHL B &Y (R) Bl T8l
B (A) : YiEd b1 U 992 913 R B @i ol [a@dl ol
SR (R) ; 4 YNYH H [44] {54l 78315 & A4 & Helld 8ld 8

Iuad HYHl & AT H FFiied [Secl § 8 98 TR I

1. (A) 3R (R) TF e & 31 (R), (A) BT Wl AT B |

2. (A) ¥R (R) T F & U (R), (A) BT el o1 el ¢
3.(A) TH 8 Tg (R) ST & |

4, (A) 39T 8 U (R) 9 B

[Question ID = 3442][Question Description = 189_10_ARC_SEP22_S2_Q89]
1. 1 [Option ID = 13765]
2. 2 [Option ID = 13766]
3. 3 [Option ID = 13767]
4. 4 [Option ID = 13768]

90)

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason
R

Assertion A : The Satavahana rulers issued coins with ship motifs.
Reason R ; The maritime trade was promoted by the Satavahanas:
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A s true but R is false

4. A is fals= but R is true



Tadl ey R e, @ o sfieyH (A) 3R ¢ & SR (R) Hal 14 &l
HIYEHY (A) : Hiaals- E®| - Seld & HIBld ar [9dd SR 16|
HRUI(R) : WIdale-] g1 9951 10T @] Uiediied fod1 7] 41|

Iuad HYH! & TS H FFiied [S@edl § § 981 TR I

1. (A) 3R (R) THT G&1 € 31 (R), (A) BT ¥6 AT &1

2. (A) S (R) &HI TEI 8 U] (R), (A) B Fa| R el ol
3. (A) el § 0% (R) W6l e &

4. (A)HEI 761 & UG (R) WEl 8

[Question ID = 3443][Question Description = 190_10_ARC_SEP22_S2_Q90]
1. 1 [Option ID = 13769]
2. 2 [Option ID = 13770]
3. 3 [Option ID = 13771]
4. 4 [Option ID = 13772]

Topic:- 067_PARTB_S2

1)
Read the given passage and answer the questions that follow:

The NBP pottery tradition in nerth India represanted a surplus econemy based society. The scholars of
history and achaeclogy have mentioned the important role of the NBP culture in the development and
expansion of the urban process in the mid-Gangetic plains as well as in the rise of janapada,
WMahajanpada and then the nation-state. The earliest date of this culture is considered to be between 137
to 8 century BCE, on the basis of modern research. In present day Bihar and eastern Uttar Pradesh, many
afchaeclogical sites related to this culture hayve come to light, which have been excavated on a large scale

by the archaeclogists.

NBPW culture stands for

1. Nerthern Blue Painted Ware Culture
2. Morthem Black Polished Ware Culture
3. MNew Black Painted Ware Culture

4. Northern Blue Polished Ware Culture

Frafafes iy o1 amyde oty o gEfim o= nst & o= &g

IR HRG H NBP UE TRERT USpi SHfiRN Jred UX e ol suawy) &1 wiaHiad &Yl ol NBP
el @1 739 10 A35F H TIRE Uied] © [Geiad SR 9w 8H & 91y 8 S-S Heleus aadld
WP 5E & Iod H Heeqtl HiHe! & oo 3idery Ud Qe & gl - [5ar 8| 59 Wk @1 Ui
i?@a{gﬁraqalﬂmnﬁfamrmm 1300-800 9, & He BFET 74T & G99 eR Ud Udl o) Wed H 59
HEpla § W HE QU UeE § o @ -] Guiaal g1 [aegd 09 91 9ea-H S fedr 1] &

A d U ssg awl § s 8

1, IR Al TdiEd 9 R

2. 54 DieF [Ed 9F e
3. GR] ITH TESIe! 9B 9]
4, T el aeDiel 9T gTER]

[Question ID = 3444][Question Description = 191_10_ARC_SEP22_S2_Q91]



1 [Option ID = 13773]
2 [Option ID = 13774]
3 [Option ID = 13775]
4 [Option ID = 13776]

A W N =

2) Read the given passage and answer the questions that follow:

The NBP pottery tradition in north India represented a surplus econemy based soeciety. The scholars of
history and achaeelegy have mentioned the impertant role of the NBP culture in the development and
expansien of the wurban precess in the mid-Gangetic plains as well as in the rise of janapada.
Mahajanpada and then the nation-state. The earliest date of this culture is considered to be between 13%
to 8% century BCE, on the basis of modem research. In present day Bihar and eastern Uttar Pradesh, many
archaeological sites related to this culture have come to light, which have been excavated on a large scale

by the archaeclogists.

The mid-Gangetic plains extend from

1. Haridwar {Uttarakhand) to Rajmahal hills (Bihar)

2. Prayagraj (Uttar Pradesh) to Purulia (West B=ngal)

3. Haridwar (Uttarakhand) to Bay of Bengal (W. Béngal}
4. Western Kausambi (Uttar Pradesh) to Rajgriha (Bihan)

Frafafas =y o1 argde oy o gw=Efie o= nst & o= &g

IR HRA H NBP U TR depl TN Sdes oY i onf sogwy &1 ufaRRe s 81 Nee
Hepla @1 99 T A5F & TR U & [Goihd SR (9w 8 & §Y 8 9% Heleus amsd
WP 5E & Fod H Heedqul HiHe! & Jid 3idery Ud IAIae & gl | 5l 8| 39 99k @1 Ui
ﬁrﬁa{gﬁmmﬂmﬁfaﬁ&rwm 1300-800 $9, & e BFT T4 & G99 eR Td Udl Ow) Wed H 59
UEpla § e HE QU UeE 4 o ¢ -] Guiaal gR1 [awgd 09T 91 9ea-H S fedr 1] &

e 711G Ha @ 9 9N B

1. 8NER 4 TR & IHed @) UsIs| ab |

2. JOTRIS § 4. 96 & Gofad] e9e &1 9 a@ |

3. eRER T 4. 97 o |

4, D] FHYG SR Yo &) UiEH 9 § [9eR & 90 9@ |

[Question ID = 3445][Question Description = 192_10_ARC_SEP22_S2_Q92]
1. 1 [Option ID = 13777]
2. 2 [Option ID = 13778]
3. 3 [Option ID = 13779]
4. 4 [Option ID = 13780]



3)  Read the given passage and answer the questions that follow:

The NBP pattery tradition in narth India represented a surplus economy based saciety. The scholars of
history and achaeology have mentioned the important role of the NBF culture in the development and
expansien of the urban precess in the mid-Gangetic plains as well as in the rise of jenapada.
Mahajanpada and then the nation-state. The earliest date of this culture is considered to be between 139
to 8% century BCE, on the basis of modern research. In present day Bihar and eastern Uttar Pradesh, many
archasological sites related to this culture have come to light, which have been excavated on a large scale

by the archaeclogists.

Which ef the following mahajanapada is net located in the mid-Gangetic plains?

1. Chedi

2, Kashi

3. Vatsya

4, Ashmaka

Frafuafes Ty o1 wHgEe Ry ot gwiua uie ust & o= dife

JT¢ HIRG H NBP Ui UTERT Hpid SN SdiGd U ARG i ogaw] & WidiHfig &l ol NBP
Tepla 91 7Y T B § TRIG Ul © Geiad SR Gl s © WY &1 SH9G Felss ol
P 5 & Iod § Hewqul HfHe & S Sidery Ud GAaE & [9gil - 5l 81 59 SRk @ aried
Ty Sfe[ATTA SEUFT & YR R 1300-800 3.4, & T8 THT 741 § 999 NeR 4 U 3R Uex | 39
UEpla | T H-® QU UeR 4 o ¢ (o] GUiaal gR1 [ad a1 9 9aa-H S fear 1] 2

HE TG BE H ©1F | i HeeuE el iR 8

1.6
2. @El
3. 89
4, HHF

[Question ID = 3446][Question Description = 193_10_ARC_SEP22_S2_Q93]
1. 1 [Option ID = 13781]
2. 2 [Option ID = 13782]
3. 3 [Option ID = 13783]
4. 4 [Option ID = 13784]



4)

Read the given passage and answer the questions that follow:

The NBP pattery tradition in narth India represented a surplus economy based saciety. The scholars of
history and achaeology have mentioned the important role of the NBF culture in the development and
expansien of the urban precess in the mid-Gangetic plains as well as in the rise of jenapada.
Mahajanpada and then the nation-state. The earliest date of this culture is considered to be between 139
to 8% century BCE, on the basis of modern research. In present day Bihar and eastern Uttar Pradesh, many
archasological sites related to this culture have come to light, which have been excavated on a large scale
by the archaeclogists.

Which of the following archasologist has not excavated the NBPW cuttural sites?

1. G. R. Sharma
2, 1. N. Pal

3.4 K Narain
4. H, D, Sankalia

Frafuafes Ty o1 wHgEe Ry ot gwiua uie ust & o= dife

JT¢ HIRG H NBP Ui UTERT Hpid SN SdiGd U ARG i ogaw] & WidiHfig &l ol NBP
Tepla 91 7Y T B § TRIG Ul © Geiad SR Gl s © WY &1 SH9G Felss ol
P 5 & Iod § Hewqul HfHe & S Sidery Ud GAaE & [9gil - 5l 81 59 SRk @ aried
Ty Sfe[ATTA SEUFT & YR R 1300-800 3.4, & T8 THT 741 § 999 NeR 4 U 3R Uex | 39

Pl § gl o QWIRYT Yo 4 o § -] GRias! g1 [Gegd HI- G a4 S/ foar 7l 8l

i 9 O o9 w Qifag nee S0 & 383 3 T8 gefEa g

1, 3% T I

2,9, 4. 9@
3.0 &, FRE0
4,704, B, dpiierdr

[Question ID = 3447][Question Description = 194_10_ARC_SEP22_S2_Q94]
1. 1 [Option ID = 13785]
2. 2 [Option ID = 13786]
3. 3 [Option ID = 13787]
4. 4 [Option ID = 13788]

5)

Read the given passage and answer the questions that follow:

The NBP pattery tradition in narth India represented a surplus economy based saciety. The scholars of
history and achasology have mentioned the impertant role of the NBP culture in the development and
expansien of the urban process in the mid-Gangetic plains as well as in the rise of jenapada.
Mahajanpada and then the nation-state. The earliest date of this culture is considerad to be between 139
to 8% century BCE, on the basis of modem research. In present day Bihar and eastern Uttar Pradesh, many
archasological sites related to this culture have come to light, which have been excavated on a large scale
by the archaeclogists.

Which of the following sites are related to the NBPW culture?

1. Bhirrana

2. Keldihawa

3. Mahagara

4. Chechar Kutubpur



PrafafEe ey o1 wFgde ufde ok gEfia o ust & s difte

IR HRG § NBP UE RERT Ul TN Sdes o e onf soawy &1 ufaRRie s 81 nee
epla @ 99 T A5F & TR Ui & Geihd SR [N 8 @ WY 81 9% Hele9s awsd
PG W B Iod H gy HHET $ e 3iqery Ud URIaw @ 1dail | 15dl ¢ | 59 Ui $1 uihiHaH
ﬁ:ﬁw&a@ﬂﬁmﬂmm 1300-800 3.9, & B9 ] 741 & 998 e Ud Udl ook uem § 59
e a o i SHE QURE Yo | S § (9 Quiidal g1 [9%d U9 9 9ea-H o fegr ) 21

fgfafaa 4 4 nepw S0 § B @ 9T @

1. fRSF

2. Pifcsegal

3. Hedlal

4 TR GTIR
[Question ID = 3448][Question Description = 195_10_ARC_SEP22_S2_Q95]
1. 1 [Option ID = 13789]
2. 2 [Option ID = 13790]

3. 3 [Option ID = 13791]
4. 4 [Option ID = 13792]

Topic:- 067_PARTC_S2

1) Read the given passage and asnwer the questions that follow:

In the form of archaeological evidence of early Hindu temples; only surface structures of these temples

are found, which are believed to be of the third century BC. The structural remains of such temples have
been found at Vidisha in Madhya Pradesh, Nagari in Rajasthan, Sonkh near Mathura in Uttar Pradesh. The
evidence cf an ancient Shiva temple has been found near the Parashurameshwara temple from
Gudimallam in Chitoor district of Andhra Pradesh. On the basis of the remains found related to the
above-mentioned temples, the opinions: of the scholars are that the process of temple construction in

India started from 2400-2500 years ago. From the architectural and sculptural point of view, this art had

attained its perfection nearly 1500 years-ago:

Which of the following sites was famous as the city of temples?

1. Vidisha

2. Gudimallam
3. Dangwada
4. Senkh



Fafafes uvse & oyR W 9=t e usl & 399 gl

TR fog d4f5Y & Walas W58 © ©0 7 39 14630 @1 aeg 939 € uw el & S Sy
T SraTsal &1 T 91 © | T8 Fo & [aiGan, TRy & AR o] 3t Hed & TUN @ 9HY 9 TS
W U Y UOR & Al & dd-iets a8 WK gL 81 1Y Ue & fRy oHue & s HeaH o RERIEER
iy © WU U WriHaH B9 HiGT &1 UH Wie g4 81 Suldd HigY & JIUA Uik SaRin & SMHR IR
faar! @ #ima ¢ 6 yRa ¥ Hftx i of Wl @ oY o9 9 2400 ¥ 2500 79 09 URY S @7 1)
Felia] H WYY W@ gidamar @1 2P 4 1500 a9 Ud 98 Sa 309 goid &f 91 ol T

Frofafan 3 € o901 [Rye 3R Y o R & S0 E e e

1. faiGam

2, TSATH
3. g7digl
4.9

[Question ID = 3449][Question Description = 196_10_ARC_SEP22_S2_Q96]
1. 1 [Option ID = 13793]
2. 2 [Option ID = 13794]
3. 3 [Option ID = 13795]
4. 4 [Option ID = 13796]

2) Read the given passage and asnwer the questions that follow:

In the form of archaeological evidence of early Hindu temples; only surface structures of these temples
are found, which are believed to be of the third century BC. The structural remains of such temples have
been found at Vidisha in Madhya Pradesh, Nagari in Rajasthan, Sonkh near Mathura in Uttar Pradesh. The
evidence cf an ancient Shiva temple has been found near the Parashurameshwara temple from
Gudimallam in Chitoor district of Andhra Pradesh. On the basis of the remains found related to the
above-mentioned temples, the opinions: of the scholars are that the process of temple construction in
India started from 2400-2500 years ago. From the architectural and sculptural point of view, this art had
attained its perfection nearly 1500 years-ago:

The earliest Hindu temples are usually dedicated to the following deities:

1. Shiva and Parvati

2. Vishnu and Lakshmi
3. Only Shiva

4. Shivd and Vishnu



Fafafes uvse & oyR W 9=t e usl & 399 gl

TR fog d4f5Y & Walas W58 © ©0 7 39 14630 @1 aeg 939 € uw el & S Sy
T SraTsal &1 T 91 © | T8 Fo & [aiGan, TRy & AR o] 3t Hed & TUN @ 9HY 9 TS
W U Y UOR & Al & dd-iets a8 WK gL 81 1Y Ue & fRy oHue & s HeaH o RERIEER
iy © WU U WriHaH B9 HiGT &1 UH Wie g4 81 Suldd HigY & JIUA Uik SaRin & SMHR IR
faar! @ #ima ¢ 6 yRa ¥ Hftx i of Wl @ oY o9 9 2400 ¥ 2500 79 09 URY S @7 1)
Felia] H WYY W@ gidamar @1 2P 4 1500 a9 Ud 98 Sa 309 goid &f 91 ol T

urias fevg AR ure: v/ Samell o waita g 7

1. 2F SR grEdr
2. famy s gt
3. thdi fyd

4, g 3R fawg

[Question ID = 3450][Question Description = 197_10_ARC_SEP22_S2_Q97]
1. 1 [Option ID = 13797]
2. 2 [Option ID = 13798]
3. 3 [Option ID = 13799]
4. 4 [Option ID = 13800]

3) Read the given passage and asnwer the questions that follow:

In the form of archaeological evidence of early Hindu temples; only surface structures of these temples
are found, which are believed to be of the third century BC. The structural remains of such temples have
been found at Vidisha in Madhya Pradesh, Nagari in Rajasthan, Sonkh near Mathura in Uttar Pradesh. The
evidence cf an ancient Shiva temple has been found near the Parashurameshwara temple from
Gudimallam in Chitoor district of Andhra Pradesh. On the basis of the remains found related to the
above-mentioned temples, the opinions: of the scholars are that the process of temple construction in
India started from 2400-2500 years ago. From the architectural and sculptural point of view, this art had

attained its perfection nearly 1500 years-ago:

In'which of the follewing pericds, the Indian-art and architecture was at its zenith?

1. Kushana

2. Gupta

3. Later-Gupta
4. Rajput



Fafafes uvse & oyR W 9=t e usl & 399 gl

TR fog d4f5Y & Walas W58 © ©0 7 39 14630 @1 aeg 939 € uw el & S Sy
T SraTsal &1 T 91 © | T8 Fo & [aiGan, TRy & AR o] 3t Hed & TUN @ 9HY 9 TS
W U Y UOR & Al & dd-iets a8 WK gL 81 1Y Ue & fRy oHue & s HeaH o RERIEER
iy © WU U WriHaH B9 HiGT &1 UH Wie g4 81 Suldd HigY & JIUA Uik SaRin & SMHR IR
faar! @ #ima ¢ 6 yRa ¥ Hftx i of Wl @ oY o9 9 2400 ¥ 2500 79 09 URY S @7 1)
Felia] H WYY W@ gidamar @1 2P 4 1500 a9 Ud 98 Sa 309 goid &f 91 ol T

YRd H Hfer wue w6 Ao @t 2P @ an-m g o i mar e

1. YT-BU FHE

2. 7 @ld

3. TRR @19 (550 5. ¥ 750 5. 0)
4. TS el

[Question ID = 3451][Question Description = 198_10_ARC_SEP22_S2_Q98]
1. 1 [Option ID = 13801]
2. 2 [Option ID = 13802]
3. 3 [Option ID = 13803]
4. 4 [Option ID = 13804]

4 Read the given passage and asnwer the questions that follow:

In the form of archaeological evidence of early Hindu temples; only surface structures of these temples
are found, which are believed to be of the third century BC. The structural remains of such temples have
been found at Vidisha in Madhya Pradesh, Nagari in Rajasthan, Sonkh near Mathura in Uttar Pradesh. The
evidence cf an ancient Shiva temple has been found near the Parashurameshwara temple from
Gudimallam in Chitoor district of Andhra Pradesh. On the basis of the remains found related to the
above-mentioned temples, the opinions: of the scholars are that the process of temple construction in
India started from 2400-2500 years ago. From the architectural and sculptural point of view, this art had
attained its perfection nearly 1500 years-ago:

Who among the following isa famous art historian?

1. H. C. Raychaudhari
2. Kalinkar Dutt

3. Krishna Deva

4.D. N. Iha



Fafafes uvse & oyR W 9=t e usl & 399 gl

TR fog d4f5Y & Walas W58 © ©0 7 39 14630 @1 aeg 939 € uw el & S Sy
T SraTsal &1 T 91 © | T8 Fo & [aiGan, TRy & AR o] 3t Hed & TUN @ 9HY 9 TS
WHE I3 UOR & Hied & 9w-es 639 Uh g0 8| oY IS & ikl 990e & S Head d WEREYR
iy © WU U WriHaH B9 HiGT &1 UH Wie g4 81 Suldd HigY & JIUA Uik SaRin & SMHR IR
faar! @ #ima ¢ 6 yRa ¥ Hftx i of Wl @ oY o9 9 2400 ¥ 2500 79 09 URY S @7 1)
Fieia] & W U gidaen @ 2P 9 1500 o4 Ud 08 & 30+ ofd & w8l T

Fofofaa & O oF Qs oo 3keeeR e ¢

1. ER=EE g AR
2. WlicioT o

BN L

4 BT

[Question ID = 3452][Question Description = 199_10_ARC_SEP22_S2_Q99]
1. 1 [Option ID = 13805]
2. 2 [Option ID = 13806]
3. 3 [Option ID = 13807]
4. 4 [Option ID = 13808]

3) Read the given passage and asnwer the questions that follow:

In the form of archaeological evidence of early Hindu temples; only surface structures of these temples
are found, which are believed to be of the third century BC. The structural remains of such temples have
been found at Vidisha in Madhya Pradesh, Nagari in Rajasthan, Sonkh near Mathura in Uttar Pradesh. The
evidence of an ancient Shiva temple has been found near the Parashurameshwara temple from
Gudimallam in Chitcor district of Andhra Pradesh. On the basis of the remains found related to the
above-mentioned temples, the opinions: of the schaolars are that the process of temple construction in
India started from 2400-2500 years ago. From the architectural and sculptural point of view, this art had
attained its perfection nearly 1500 years-ago:

Which of the following sites is not famous as a city of temples?

1. Pattadakal

2. Aihgle

3. Bhubaneswar
4, Sanchi

Fafafes uvse & oyR W 9=t e usl & 399 gl

TR fog d4f5Y & Walas W58 © ©0 7 39 14630 @1 aeg 939 € uw el & S Sy
T SraTsal &1 T 91 © | T8 Fo & [aiGan, TRy & AR o] 3t Hed & TUN @ 9HY 9 TS
WHE I3 UOR & Hied & 9w-es 639 Uh g0 8| oY IS & ikl 990e & S Head d WEREYR
iy © WU U WriHaH B9 HiGT &1 UH Wie g4 81 Suldd HigY & JIUA Uik SaRin & SMHR IR
faar! @ #ima ¢ 6 yRa ¥ Hftx i of Wl @ oY o9 9 2400 ¥ 2500 79 09 URY S @7 1)
Fieia] & W U gidaen @ 2P 9 1500 o4 Ud 08 & 30+ ofd & w8l T

HieRl & TR & ©U H SH-4] YT 98I 981 6 7

1. Uge@d
2. UG
2 HaYT
A4.7gi4t



[Question ID = 3453][Question Description = 200_10_ARC_SEP22_S2_Q100]
1. 1 [Option ID = 13809]
2. 2 [Option ID = 13810]
3. 3 [Option ID = 13811]
4. 4[Option ID = 13812]

Topic:- 22 GP_29SEPT22_SH1_S2_A

1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Visas Types Of Batteries Sold (in thousands)
4AH TAH 32AH 35AH 55AH

2015 |75 144 114 102 108
2016 |90 126 102 24 126
2017 96 114 75 105 135
2018  |105 80 150 20 75
2019 190 75 135 75 a0
2020 (105 60 165 45 120
2021 115 85 160 100 145

What was the approximate percentage increase in the sales of 55AH batteries in 2021 compared to that
in20157

1.28 %
2231 %
3.33%
4,34 %



fafeRaa arfeer & a9 2015 § 2021 9 & SRIH TH DUAT GRT G DI T8 [A1HA WPR DI el
(@R ®) & faw! - siws fRu v &1 59 aifersT & siiws! & YR W Uik w4l & I S

Tl 7t 9 - aR fEwl

- faep] &1 715 Sl & PR (89K 1)

AUTH | 700 3200|350 0T | 5500

2015 75 144 114 102 108
2016 a0 126 102 g4 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 105 a0 165 45 120
2021 115 85 160 100 145

2015 @I gorl H 2021 3 55 U9 syl & fadl J ey viosd gls w4 2

3

1.28 %
2.31
3.33
4,345

33 fe

3

[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_QO01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]
4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH



Fafafaa oiftrer & 9 2015 § 2021 99 & R T U gRT Ot o 78 [Afts yor ot defal
G9R ®) & 9! - s fRw e &1 53 aiferer & siiws! & YR R " vyl & IO S

=il @ 9 - R fawl
o ] &1 713 Sl & UK (B9R 1)
A4TUUd | 7UULd | 3200 | 35U UG | 550 UH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 125 75 90
2020 | 105 | 80 165 45 120
2021 | 115 | 85 160 100 145

S 91 gid a1 H [od UBR @1 dell @ oo am| gaii® U 7

1.4400d
2.700d
3.320TE4
4,358

[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]
3. 3 [Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AH TAH 32AH 354AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 a4 126
2017 |96 114 75 105 135
2018 105 20 150 90 75
2019 |90 75 133 75 20
2020 |105 B0 165 45 120
2021 115 85 160 100 145

What is the difference in the number of 354H batteriessold in 2016 and 20207

1.24000
2..28000
3. 35000
4. 38000



FafeRas aferer & a9 2015 & 2021 90 & RIE TH DUAT gRT G0 D T8 [QIHT TPR T qchal
(@R ®) & 3t - aws fAw v &1 53 aiftreT & siws! & YR W U= Uyl & SR difere -

Seiigl @1 a8 - aR 6wl
atf T @1 713 Sl & UK (B9R 1)
4T | 7UUH | 3280 | 35T UG | 550 TH

2015 | 75 144 | 1314 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 80 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

¥ 2016 3R 2020 7 35 U TH A=feT @ fas g S W AR E

1. 24000
2..28000
3. 35000
4. 38000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]
2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
4. 4 [Option ID = 17504]



4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AAH TAH 32AH 35AH 55AH

20815 |75 144 114 102 108
2016 (80 126 102 24 126
2017 96 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 30
2020 [105 60 165 45 120
2021|115 85 160 100 145

The percentage of 4AH batieries sold in a given year to the total number of batteries sold in that same
year was maximum in the year:

1..2007
2.2018
3.2018
4, 2020

fFafafaa aifter # 9 2015 ¥ 2021 9@ & ERE TS Al gRT fawt o 715 fAfis yor ot acial
@R H) T fawt - s fer U §1 59 aifere & Siesi & YR R Ui wall & Swx 4T

=il @t ad - ar fawl
o %1 ®1 15 92l © WO (B9R 1)
AU |70 (3200|350 0T | 5500
2015 75 144 114 102 108
2016 | 90 | 126 | 102 84 126
2017 Go 114 75 105 135
2018 | 105 | 90 150 90 75
2019 =] 75 135 P ao
2020 105 a0 165 45 120
2021 115 85 160 100 145

il feu T o & 92t o) 9wl &) oo 9 & 91y 94l 9d § T @ 7 4 U ug SR @ ufowa g
T Hfw a7 7

1,2817
2,2018
3.201¢
4, 2020

[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
4. 4 [Option ID = 17508]



5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1.448H
2. TAH
3.32AH
4. 35AH

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

- ] &1 715 Scidl & UK (89K 1)
4UEd | 7UUd |3200d (350 TH | 55U LA

2015 | 75 | 144 | 114 102 108
2016 | %0 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

a8 2015 ¥ 2020 1@ 69 UEHR B 93] D [9eb] H F¥ay FRige g4t 7

1.40Ud
2.70Td
3.320UG
4.35U00g

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]



3. 3 [Option ID = 17511]
4. 4 [Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learing
more personalised and customised, as per reguirements of the learners?

1. NEAT
2, NEET
3, SWAYAM
4 SWAYAN PRABHA

e HaTeE, YRG TIPR 3] B O dioF Tl B HEEeaIH & SgaR HWE 5] Hie dditas
S el s & & o BiH SfgH 1 Wi &l 8 7

.S LA

255

3, TEHH [SWAYAM )

4 IGUH UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]

2)
Upon completion of academic programmes (Graduation), what outcomes should the students have
attained?

1. Programme Education Objectives/ Programme outcomes
2. Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomes

H@IGIHS B (Wiad) & W e 0, [genieial of @7 uRemE urd giH =i ?

1. BRIHE 8T 3539 / BIUHE UNomH
2,918 giomE

3. 913 gRum

4, gy S uions

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_Q07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]



3)
Given below are two statements, one is labelled as Assertion A and the other is labelled 35 Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking questions can create curiosity and develop passion for learning.
In light of the above statements, choose the most appropriate answer from the options given below

1. Beth A and R are correct and R is the correct explanation of A

2, Both A and R are carrect but R is NOT the correct explanation of A
3, A'is correct but R is not correct

4, A is not correct but R is correct

el @ RU g to of iy (A) IR g0 & ®RY (R) FET M@ ¢
A (a) : et =1 Al o1 v gg & o uieifed &< 9ifeul
@R (R) ; 0% OB 9 (o9 g il & SR {9 o o 3 [9e19d eidl 8
ST BYF| & TS & Hiied aeed 3 4 98 9w g ;

1. (A) 3R (R) G ¥E1 & SR (R), (A) $1 Hel SR 21

2, (A) 3R (R) T T8I & TR (R), (A) P He o0 81 6

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]

4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

1. AR EgsE

PR

3, [T @an

4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]



5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as'per the fair use guidelines?

. Upto 10% or 10 minutes, whichever is less,
. Upto 10% or 3 minutes, whichever is less,
. Upto 209 or 10 minutes, whichever is less,

Ju5 LD PO -

. Upto 30% or 3 minutes, whichever is less,

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
@ [tha (894 &1 WaR & @1 Al 8 ?

.10% T, 41 10 e, o T &9 811

10% @, 47 3 e S i ea gl

. 20% T, T1 10 e Z o Bl
4,30% o@, 77 3 e, o S ea 8l

LD M -

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2, The Glenn effect

3. The Fischer effect

4, The Kerlinger effect

wa fodl 2y @ Tqudl & asR o uitacy 91 YUR WANTES I Ue| H URGa- & R0 961 &idl &, al 34
el Sl & -

1. 51aYH TUIE
FRCE RG]

3, fheR T1e
4, HRUAGR WHId

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1. 1 [Option ID = 17533]
2. 2 [Option ID = 17534]
3. 3 [Option ID = 17535]
4. 4 [Option ID = 17536]



7)
The advantages of research based on field experiments are:

A. Astrong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEonly

& TERTl OR SR DY & A E -
A, T g §1al 9yl |
8. fawm W oiR warifa® 9 9 a98R i ¢
C. T UTgia® e | Bl 8l
D. UHiH® Hiws| @l go- |
E, forga HR-0F @1 Saxgedl T8l eidl|
i fou e fawed! & @ 8 oW A -
1. a0 A, B AR C
2, &9d B, C MR D

3. HaAC, D ARE
4 Had A C3IRE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]

8)
Hypothesis, that is alternative to null hypothesis, is represented as

1. Hg
2.Hy
3, Han
4 H.p



gitee, Sl Y g el o] famed o, @] GXI9 9l &

1. Hg
2.Hy
3, Han
4, Hii‘J

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1 [Option ID = 17541]
2 [Option ID = 17542]
3 [Option ID = 17543]
4 [Option ID = 17544]

A w N =

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracts and citations of academic journals
3. Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T & 7

1, Ui 31 Ty Y TR oY 91 AlgediR

2. SEeY foed e theel $ SR W dsvied &
3, 719 3R 9o & fawume o fog i

4, Field® R $ 9 B3 ael QiFeaty

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1 [Option ID = 17545]
2 [Option ID = 17546]
3 [Option ID = 17547]
4 [Option ID = 17548]

A w N =

10)
The Social Science research which is data-based, has been associated with

. Authoritarian mode
. Positivist philosophy
. Network theory

S % 5 I L W

. Phehemenology

gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
2. U&ag] a3
3, Jead G

4, Tengeq) fagm

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1. 1 [Option ID = 17549]
2. 2 [Option ID = 17550]
3. 3 [Option ID = 17551]
4. 4 [Option ID = 17552]



11)
The modern-communication revolutien is propelled by

1. Cold war propaganda

2, International commerce

3, Technological convergence
4, Change in political systems

YD GG Hifd aHs gRI AN & 7
1. 9019 4 @1 Uigirsl
2, 3iTRIBTY Frivrsd

3, e g HEm
4, IeTcE gone | 9igas

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1 [Option ID = 17553]
2 [Option ID = 17554]
3 [Option ID = 17555]
4 [Option ID = 17556]

A w N =

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learming

C. Minimal assessment

D. Interaction between teachers and students

E. Teacher-centric behaviour

Choose the correct answer from the options given below;

1.4, B and Canly
2.8, C, DandE only
3,C, Dand E only
4 A Band D only



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3,WIAC, D ARE
4,FIAA, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FrEd H ¥ B 4 TRiha a3l o §HgH H SRIYD § 7
A, TagTere -l

B. 3IE

C. gD W

D. ga-oig

E. Wieplci gE3{H

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.FAAA, B AR C
2, #GE B, DIANE
3,WaAC, D ARE
4, FFAB, C AR D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

Y - | §F9 o sraeTie UaieH| & O Oisia® gol &1 U 9 8l

Y - || : TN HSy, YEeiam el ] U6 WeR $1 it grdid 5 8
UL HYH| & ATID | e 9ol H ¥ Hel 3w g

1. 0YF | 3R || BF TR B
2. @Y | R EF e B )
3. By 1 TRl 5, g @y I e Bl
4, Y | TTd &, fbeg YT 1| TR Bl

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

TA-LB-1L,E=l, D-IV
2ZA-1LBANC- IV, B=
LA-NLB=-IMC-L B=1
4A8-WEB-LC-IL D=l

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17, 37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand E only
2.A and B only
3,B and D only
4, D only

Fafciad vyl 4 O Wy (31,19.41) & §9H Y13 & §9=Y @) gH¢ -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4,FFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4, D only

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C, PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4, FaA D

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2.0.002
3.0.02

4, 0.00002

F@ 0,07 BT 250 § YT {631 S0 1 91 5 Ui 81 7

1.0.0002
2,.0.002
3.0.02

4 0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4[Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa
Y U Ed &1 7S 7

1.3996
2.3999
3.% 1000
4.3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]

1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 1,5%%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 162%31'3—[

2.15% % &
2

3. 163% gl

4,98, Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Opposition, if 'Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B. 'Some S is not P is:true
C.'No Sis P'is false
D. “All SisP' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

R & g a T S T8 S, P el &, ® dfe Te) aF T el Ol 9 H ¥ fEae! uas w9 1 gEd
g s gwa g ?

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
2. &40 C, D ARE
3, TIAE, C AR D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conelusion is stated or assumed within ene of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4, FAA CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. FTHEE 9dia Tl
2. FTHS Ui o0t
3. 3% g TI9gad ad
4, 39y db

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllegistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Fac oY U T UF & 3ifHYH (4) IR T &1 7@ (R) T T &

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RU (R) ; 3G6Y U SNl ¢ (@ ®H 4 ®9 U9 diamdd a5 41 gaie s Ji9g & o 7a ug
3N 7E g Te-faemE B

Sudad ByEl & e § FRifed fAed # 4 @l awm g

1. (A) AR (R) T WE1 & 3R (R), (A) B el odEA o

2. (A) 3R (R) QT eI & TR (R), (A) I We! oIRe 78 &
3, (A) WBI € TR (R) WET 981 &

4, (A) W6l 981 & IR (R) WRI 81

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. Jufgel
2. 394
3, Uegdf
4, ety

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1.(A) 3R (R) BT 9 & 3R (R), (A) T TR RBT 1

2. (A) 3R (R) ST G € 93 (R), (A) B el 010 T 6
3, (A) T & O3 (R) S0 &

4. (A) 5T 8 U (R) A B

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

AW N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. Ta occupy lessstorage space

3, To increase transmission time over a network

4, To allow the file to be read by a variety of applications

T & UG H U SIe1 I3l @] HEIY @3- o] 7 3530 51 § 7
1. STeT @I URPE & & e
LFIRRE U G
3, U9 -ica® OL 2IgHIgH eag § 9 @ & fo
4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly



FTeTE TR [SaEds H € 6% oan 399¢ [Sasey JH ol 6 7
A ARHHBH

B. HISieey

C.9ig e

D. &P

£ emam

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.®aAA, C, DARE
2. 999 A, B, DARE
3,%aAE, C,DARE
4, FIAA, B, C IR D

[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding

forell Hot @] gs-U1a%s Shh® FUid § Ssdiie & Ue 715 e el | RO H dissie § ofgad @3
@ 16T ST HIG%E® gid] 8| 3RIG- WP @] JAdiaP B & (U (oG 1[0 (WBTaw) B SULRT (a1 w1 dliet

1. B AR U
2. 5O fdws
4, faifep oim wafem

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed ar run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

54! vhiea @] 50 TSR @ a0y SEl Skoided UItedaR SUanl Hoid aidl &, e U@ 91X Siedas
S @ & alG SYal 94 gl R 91d H 394 49 sl 6

1. B1e (HOAX)

2. 91H (WORM)

3. 2184 81 (TROJAN HORSE)

4, 7% §aed  SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
3. 3 [Option ID = 17631]
4. 4 [Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB

HRa H @ gguu (fafHes wd Hgam) Fgaed & sgar, 6E sl # U9 10 99 g 4 6 99 i
% @1 AGid H GH (L.,) BT SR FEiced 9 e T8 sH9rey

1.35dB
2,40 dB
3,45 dB
4, 50dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2.50%
3,74 %
4,62 %



N B1a © Yed O aay | Bla- sasiadies Gigdl | Giowid ais T g :

1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1 [Option ID = 17637]
2 [Option ID = 17638]
3 [Option ID = 17639]
4 [Option ID = 17640]

A w N =

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF

S 0 T W

Hfman R I om0 | o o [ue guE 9Fal ) 3EET | Fel o l ol 8, FgkRad
Hel Il & :

1.LDsp

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4[Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B
AU (A) : TTISS FONGLP ATBH1 (HEVS) BT S8 T1a TN Seilae® a1ed (EVs) § P &1
ﬁ (R) : TETES Fafee® g ¥ 3iaft® ged 39 IR 6 913 gafded fggd Ides uone aFf
|
Iulad DYH| & HTI® 5 FHidd e 3 § T8l S g ;
1. (A) 3R (R) GFT 981 & 3R (R), (A) F 9l AmE 81
2. (A) 3R (R) THT W81 § T3 (R), (A) B el oI1e T8l &1

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from clder to newer of the following agreement,
summit and protocaols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Chowose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA

HiaRey orgihan, Rre gy W@ sl & OTH 4 0 SaHd § el o0 Hl 6 7
AT Fagha

8, Alleas Hieidia

C. eI Heldla

D. feai Rrew wie

7 74U T fadbed] 5 & Wel S7R 4 ;

1.ABCD
2B DCA
3.ACDEB
4B, CDA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia

fgfarad aufaaed 8 € oF 9 aeas 99 § 7

1. TR S faufaee, TR
2. BEaTE [aefaerey

3, degR [agideeE

4, SITeE i sk

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct
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[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University

U TR & [a4faered @1 s-a1y [asfaeed H, 4er & 4dl & fau 994 giHfd @ MeiRe & Wied
Fafatad g i a6 ;

1. 9if&® ulg

2, FEGR] UNEG

3. fag afafe

4, fayfaeoy & panfugfa

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly

gaieeolig e J Fefiad 9t wnidc e
A, TEIEE 4T

B, JHfaRuIy g

C. 5id fafgsar &1 g1

D. e Tfdga

£, Sierarg uftad Tl SOl 9ya
e fou e fased! 7 4 1 SW T ;

1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4 FAAR ARE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of

Calcutta University Commission in 1917,

Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's pest-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

@Y - | : 1949 H JUGEYUH A @I (BRI 1917 H Sowal [ayaeed Hhn of [gsiiEl & 922 g

@Y - 11 : 1953 F HGlerR A &1 Rwigl 1944 H S 90¢ & I§ 9¥id Qiee e gienr o
Rwfeeil & geg &

Suad YAl & e § FgeiEd Fedl § 1 9d W

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | el o, [ @9 11 TTEd 81
4, YT 1 T4 & , fobq YA 1| G818

[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_52_C



1

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups



Fafafad Ssxu o ug ik 9wt e wedf & ST S|

Al 30 SiaeR @I Qe alk Y FEie &34 & g gl ¥ 3 Wad T8 & 3991 Aeoiy Ueld SHH
Bl 8, I 9% & Upid U WA Bl & 39 02 @ olEd g0 o AUSIY GHSI0S Hi-dl @1 Jdi pia &
TR UF HUEFHd S TIE & G 9THT 50 BOR 99 Usd g3 U1l U8 WER UPA JaHi® HaeR
&1 Freiva 78 Bl & dites g8 auiied Swel &) vefa Aifd iR difg e 21 som aod e & [ o9y
H GEHiayl & @8 H HHE G-I GdeR @ O 98P s 4 [9HGE 8id] &, 39 U U@l ®] 98 86
7% 54 e aidid [oed] ol Toal © (9 Aeasy g9 9d i 9 Tod if&ia el 9T g8 f99r & a=a o
% 999 § gUe dfed @ ai W offtam § o S S99 § sReangyl BT (8Ted) g1 91 UF gaY ° Ui
HFFaEd ey 4 (F9) T8 $edl Gel 9ol & AFGENd N 3@ RWEH gad gad HGH 964l & HYR
U (3l HR & GEiae 9981 3 d 4| d%da H d 37 9IS Uee] 3 o) 909d do <6 [agd gEiss
el & (oY Ha%us WhEE® AR HIgTiel® 450 [Aaiad g4l 3R d 304 5 &R 3 Seagas 95
| su@ Y 18 g9 T uniie® o @ Raeuul-aed ufaedl, fogd te oafed 98 992 ¢ [ g o9y
5 TEgN PG o] 46l &1 4 Y8 Ud o, 950 64 @ JEIV® Ygal] & Hed ®) BHR (69l o, @ 514
a7 o faemE gl 8 o < 39% Havia FfRd Stel @l i U 16T gu3al g1 o AR uisfas a=di
i) @1 & | 98 ol (el U STUING & o RRAGRI 1 934 3R U8 WIS & Hl 81 38 REdaR
T 91 GEEEN HEad @] S GRIidl & & amdi B @l e S-les gadl B R (@1 6 dfed
Tl oHe® 9 4 TP g o 9IS o) TERU GR 91 390 G 19 & SURa el © | RER GRg@ i ol
Figid 98 @edl & f& 919 @ WYE 19d) Ty R1fth &3 &1 & o Tt oy 9] TR 8l 9X SneTia
B0 & 919 9 950 $ GRF TP gk U Had 9o o | RER RSN NKeR 994 @ [quiid a-icd GGl
U3 ST 6l Bl & SIaiic U8 SR-GR Welgf HfouTa Hereliel 0 4T 8

TG ] WISl Sa® Ul [l gHifdd Sl s 7

1. GTEIE d1-81 @ [THeH
2. AT | RT3 B uPpia

3. ST @1 U@ HaeR

4, GO THE! @1 TE

[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
1. 1 [Option ID = 17673]
2. 2 [Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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[Question ID = 4420][Question Description = 147_81_GP6_SEP22_S2_Q47]
1. 1 [Option ID = 17677]
2. 2 [Option ID = 17678]
3. 3 [Option ID = 17679]
4. 4 [Option ID = 17680]



3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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[Question ID = 4421][Question Description = 148_81_GP6_SEP22_S2_Q48]
1. 1 [Option ID = 17681]
2. 2 [Option ID = 17682]
3. 3 [Option ID = 17683]
4. 4 [Option ID = 17684]




4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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1. 1 [Option ID = 17685]
2. 2 [Option ID = 17686]
3. 3 [Option ID = 17687]
4. 4 [Option ID = 17688]



5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage
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